IC312 Quiz #3
Name: _____________________________

1.
List the vertices in the order they would be visited during a breadth-first search (BFS) traversal of the graph shown below starting at vertex S.


[image: image1.emf]R S T U
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There are multiple correct solutions.  Here are three of them


S R W V T X U Y 

S W R X V T U Y


S W R T V X Y U

2.
List the vertices in the order they would be visited during a depth-first search (DFS) traversal of the graph shown below starting at vertex S.
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There are multiple correct solutions.  Here are three of them


S R V W T U Y X

S R V W X Y U T


S W T U Y X R V

3.  Fill in the worksheet and draw the shortest-path tree that would result from running Dijkstra’s algorithm on the graph shown below starting at vertex u0:
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	Next
	Distance from Start Vertex
	Edge Connecting

	Vertex
	u1
	u2
	u3
	u4
	u5
	Next Vertex

	u0
	
	
	
	
	
	null - u0

	u5
	
	13
	
	16
	8
	u0 - u5

	u2
	18
	13
	25
	15
	X
	u0 - u2

	u4
	18
	X
	25
	15
	X
	u5 - u4

	u1
	18
	X
	20
	X
	X
	u5 - u1

	u3
	X
	X
	20
	X
	X
	u4 - u3


